T5ttttZg (my = 2200 GeV) Té6ttZg (my = 1300 GeV)

Selections mf? = 200 GeV mi(f = 1975 GeV mx(l) = 200 GeV mf(l) = 1200 GeV
All events 48.7 +0.2 485 +0.2 114.6 £0.3 113.9+0.3
Lepton veto 18.0 +0.1 185 +£0.1 64.6 £0.2 63.7£0.2
Isolated track veto 156 £0.1 16.3 £0.1 58.7+0.2 58.24+0.2
v(pr > 100GeV, || <24) >1 6.98+0.08 7.86 £0.09 30.2+0.1 31.0+0.1
paRiss > 300 GeV 49140.07 7.47 £0.09 19.4+0.1 26.0+0.1
Niets = 2 49140.07 7.46 +0.09 19.4+0.1 259+4+0.1
St > 300GeV 49140.07 7.46 £0.09 19.440.1 259+0.1
Trigger efficiency 4.78+£0.06 7.25£0.08 18.8+0.1 25240.1

AP(FS, pmiss) > 0.3 4.0540.06 5.77 +0.07 16.240.1 21.140.1




